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Bvaluate: —6Y - (~4)% - (=2)°7. g#/3

-6 {ly 16 () ~16 () 0 () 6

Evaluate: ((37)H 71 - ((16) VY2

81/16 (b) 7/12 {cy 12/7 (d) 9/64 {e} 16/81

S5olve for b in terms of A, B, and h: A= (b + Bh
2
Z2A - B (b) A~ B (c) ZA — Bh {(dy A~ B (e) 27 - 281
h 2 h h 2h i

The binomial, x® - y'%, has how many prime factors:

4 (e) 2

1921
o

(b) 3 (c)

Simplify: ( (XE/ITY—.B/G)/ (X“4/5y2/3) )—-2

y? (b) _y' _ (c) =y’
le/lO Xl/lO
(d) __1 () __ =% .
yx]/g y't’/9

The closest approximation te the square root of 10 is:

3 by 3.1 (c) 3.2 (d) 3.3 (e) pi

Simplify:

y (x=y) 2+ (x+y) 2
(a) 2x (b) V2 {x+y) () J2x?e2y? (d) x+y (&) -y

Simplify: _ pf-g®
prr2pata’

-1 (b) -1 (c) p-a (d) prtg (e) _1_

VARl ptg 2pg

Subtract: (2x’y*=3xfy+dxy?) — (3x’y?+7x7y-5xy?)

(d) —x'y?+4x’y—xy? (e) 5x*y"~10x’y+4xy’Huy?
¥

[

=xfy 107y 9xy? (b)) —xPyi-10xiy+axy?+5xy? (¢) =y Aty syt
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Multiply: (4x%+7y) (4x°+2y+z)
16x"4+36x%y*+14y? (b) 16x%+36xy+4x*z+ldy’+7z (c) lex'+7yz
(d) 1léx'+36x2y+14y*+4xiyz (e) 16x"+36x*y+4x’z+14y*+Tyz
Divide: (~8x*~42x-49) by (~4x-7)

®+7 (b) —8x+7 {c) 7=+l (dy 2x+7 (e) 2x-7

Solve: 3@+ = 243

{6} (b) {81} (c) {-2} (d) {2} (e) {~6}

Factor completely: 18x%~1lxy—24y?
(6x-4y) {3x+6y) (b) 6(3x-2y) (2x+2y) {c) (9x-8By) (2x+3y)
(d) 2(3x+8y) (2x-y) (e) (9x+8y) (2x-3y)
The complete factorization of 2x3+5x*~18x~45 is:
(x%+9) (2x-5) (b) (2x+5)2(x+3) (x~3) (¢) (2x+5) (x—3) (x+3)
{dy (2x—9) (x+5) {e) (x—45) (2x+9) (x-2)
Divide: x*+x by x’-1
y? Xy=y

2

(2x—1}/y (b) y/x (c) =x/y (dy y*-1 (e} y/ (1-x)

Simplify:

4/81X12y4
3%’y (b) 3x%y (c) 9x° (d) 3x3y? (e) 9x°y

Solve: 5{x—-4) = 4—-({6-2x)

{3} {(b) {-6) (c) {2/3} {d) (-5} {e) {o}

Solve: 8

1
X2
{3} {b) {6} (c) {2/3}) (d) {0} (e} {—-3}

Solve for y: 1/ = 1/y + 1/z

xz/ (z—%) (b} x—=z {c} xz/{(z+x) (d) 2/ (x—2) (e} % + xv



20. Solve:

(a) {0,3} (b} {3,16} (¢} {16} (d) {-16,3} (e) {3}

21. Solve: ¥ o= =1 +
{a) {1/2) (b} {1} fc) {2} {(dy {1/2,1} {e) (1,2}

22, Solve the inequality: 3x+2 < Tx—6

(a) x>2 () x>2 (c) x<2 () x<2 (e) ®l

23. The length of a rectangle is 4 inches more than its width.
inches are taken from the length and added to the width, the figure bec
a square with an area or 192 square inches. What are the dimensions of
criginal figure?

(a) 10.9 by 14.9 in (by 12.9 by 16.9 in {c) 119 by 159 in
(d) 11.9 by 15.9 in (e) 12.9 by 14.9 in
24. Find the values of x for which:
|3-x]< 5
{a} {—2,8} by x < -2 or = > 8 (cy -2 < x < 8
(d) -2 < x < 8 (e) x < ~2 or x > 8
25. A train leaves Knoxville at 4:00 p.m. heading west at &0 mph .
second train leaves Memphis at 4:30 p.m. heading east at 90 mph .

many hours after the second train leaves will the two trains pass
Knoxville and Memphis are 480 miles apart?

(a) 132/15 {by 69/30 (c} 222/15 (d) 3 {e) 4

26. What is the next number in the sequence 1,1,2,3,5,8,13,...7

(a) 18 (b) 21 {cy 17 {dy 15 (e) 20

27. In a race, runners recorded times (in minutes:seconds) of 29:14,
30:10, 29:29, and 29%9:05. What was the average time?

(a}) 29:40 (b)y 29:30 (c) 29:50 (dy 29:15 (e) 29:24

28. For £(xr) = —2x+x+10, find F(f(f(~2))).

(a) -180 (b} 200 {(c)y ~160 {(d) 140 (e) 60
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When graphed, f(x)

0 (b) 1 (c) 2

If £(x) = x+1 and

x4=1 (b} 2x (c)

!
fout
Mo

= =2x°+3%~7 has how many zeroces?

{d) 3 {e) null set

g{x) = %-1, then f(g(x})) =

X+1 (d) x {e} 0

—e———

Xx—1

Find the slope of the line through the (5,-2) and

9

-4 (b) -9 {c) 4
4

(dy 8 (e} 0
4

Icdentify the equation for the given graph:

(d) v = 3x + 2
2

Find the equation of the line through the point {(—1,~Z2) and

(e) v = =2% = 3
3

parallel to the y~axis.

Yy = -3 (b) v = -1

(C} x = —-5& (d) = = -1 {a)

Whaz would be the slope of a line perpendicular to

5/3 (b) 3/5 (c)

3
ja
£
{2
j_).
5]
T
1))

~5/3 (d) -3/%8 (e) -1/3

nce petween A(2,3) and 3(5,-6) is:

(a) 2/1I7 (b)Y 32 (c) VIO (d)y 3410

(“41 2) .

¥y = &x

3x-5y = 157

(e) 6
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Which of the following is the graph of 2zx-3y+6 = 02
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(a) 0

40.
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1 and Zx+3y

Given the eguations, 3x-2vy
The graphs of the equations intersect at (7/13,4/13).

The graphs of the equations are perpendicular to each other.
The graphs of the equations are both perpendicular to x+y=1l.

Which of the above statements are true?

;, II, and III (b) I only (c) IITI only
{(d) I and 1T {e} II only
In order for the determinants
-2 ¢2x ~ﬂ
A = um
t'—4 2X IX
to be equal, x must be:
(by 2/3 or -2 (c) 2 or =2/3 () 3/2 or 1/2 (e)

At a mall some teenagers (ages {4-17)
musical preferences, and the following data were collected:

and the statements:

-3/2 or 2

were surveyed concerning their

32
29
12
20
5
1
2
ne

liked
liked
liked
liked

Extreme

R. E. M.

Amy Grant

both Extreme and R. E. M.
liked both Amy Grant and Extreme
liked both Amy Grant and R. E. M,
did not like any of the three
one liked all three

How many teenagers were surveyed?

01

(o)

73 (c)y 49 {(d)y 47 (e} 75






